ooooogobooon

2007MIo14 D000
obooooooo

1 0000

gbobobOoooooobooboboboobonoo
gbobooooooboboboboooocoooooonog
obooO0oooooooooboobooboooooonog
gbooooooboboboooooocoooooona
gbooooooboboboooooocoooooona
gooboooooooooooooobobobooooooon
gbooooooooobobooooooooooonog
gbobO0oil1o0obocboobooooooooboonoo
gbogooboobodgbbooobgoboabobod
gbogbboobooboobboooboobadann
gobobOoooooooboobo0o1000=13800000
gbobo1l10b0o=69000000000000000
1000=69000000000000000000138
gbooboobo3booboobooboobbon
gboboboobobobooooboboon 2010
Or01007031000010000000DO00DO

2 Joooooo
00000000000000000000000000

010000000 (1000=1380)

|00 ] ooo |oo | oo [oog |
1 00 138 4 ] 12.90 [ 12.90
1380276 | 18 | 58.06 | 70.96
3 [2760414 | 9 |[29.04 | 100

02 0000000 @(100O0=690)

|00 | ooo |oo oo [oo ]
1 00 69 0 0 0
2 | 690138 | 4 | 12.90 | 12.90
3 | 1380207 | 13 | 41.94 | 54.84
4 |2070276 | 5 |16.13 | 70.97
5 | 2760345 | 5 | 16.13 | 87.10
6 | 3450414 | 4 [ 1290 100

3 UDoouoaooboo

obobOobOooooooooooboobobonoo
ooboobooooao

3.1 00000

a:1 00000000, 00, «O00O00O0
daiDobooooon, =000, y:000
00000000000, p(y):0000
E(z):0O00O, e(z,y):00
(b>nb+rd0D00)

3.2 0OOO00OOODOOODOO

gobbooboooobobooobooobooon
gbogboobooooboobooboo

e(z.y) = {ay — (L =m)b(z —y) + md(x —y)

r=y

ar — c(y — x) x <y

(1)

0000000 E(x)0 ply) 000000000 E(x)
00000000000 2ep O

{ E(x)~E(x—1)>0 @)

E(z+1)—E(z) <0

obooobooooooboooon

< a-+c
“a+b+c—7b—mnd

a—+c
>
;p(y)— atbtc—nb—nd

33 OOoOooOooo

oooooobgooobobooobooooboooboo
Oo00DD0000000DD0OO0ae=194.10552270
b=65.59003572 0 000 cO0000O0D00OOOODOOO
Oo00OOO00020000000004d0O 3006501000
oboobobOr0o0<L<rL1O0000O0C10O0000O00OO
O0r=000000000000000000 (ODODO
00)0000000000 100000000 ooo
gobobocObOOOO0ODOOOO0ODOOOODOOOODOOO
gboooooobooboobobobooooooooooo
00 1380000 50302.019830 0000000000
ooboooooo1sbooooesnooubodn=0.50
d=65000000000000000138000000
obooo0oooooon s78s9.3915r00nonoooon
gboooooooboboboboooooooogoonog
gboooooooobooooboooooobooogoonog
obooooooobobobooooooooo1b0o0o
oooooo

4 0O0O0OOO0O0OOO

oboboooobobooobooboboboboooooo
0000000000000O000 2uoooooon
oboooboooooboobooooobooooon

4.1 0O0OO0O0OO

b:oOo, «00O00ODO, 000000000
000, y:000, 00000000000
p(y):0000, T(x):00D000O, t(zy):000
(¢>bb>ndlec>nd00O0)



4.2 00O0O0OO
gooooobooog

t($7y) = {

00000 T(x)0 p(y) 0000000007 (x) 00
000000000 ep O

{T@y:nx—ngo

bx x>y
bx + c(y — x)

T +1)— T(z) > 0 (5)

gogboobobobooboobog

4.3 0O0OO0O0OO0OO0OOOCOOO

bobobooooooooooboobobono
gbobobooboooooooooooooboooan
gboooao

t(ZE,y) = {
(7)

00000 T(z)0 T(z) 00000000000 2ept O
000 100000000000000000000

(I—mbr+7{bx—dxz—y)} z>y

bx + c(y — x) x <y

c—b
c—md

- c—b
>
}:p@)_cfwd
4.4 0000000

gboboooooooobooboobooboonde
gboboboboooooooooobooobooboboon
gbobooobissoooooooooboooobooo
gbobobobobobobooboobooooooban
gboboboboooooooooobooobooboboon
gboooOoobooooboooooobooooboon e
00e=97.05276135 0 00 19409.69528 0O O OO OO
gboboooooocoobgooogesooonooog
r=10d=6500000000000000069000
obooboooooobooonn 17026.8554300000
obobooboboooooooooboooooboooboon
gboboooog

5 Uouodgooo

gobooobooboboooboooboaooo
ggbgoboaobooobooaon

5.1 0O0O0O0ODO

0000, «:000000D0, X:0OOOO
y:0Oooooo, z.00000o0

5.2 0O0O0OO0OO

000000000 BDoooooo
ubooob=0000000000000
gboooboobooboobobooooobooo
gbobooooooooboobooboboboboboo
obooobooooooboooon

0000 =(0000)x,/(0000)x(0000000)

(10)

03 0000 o
2.33 | 1.95

1% | 2.5%

alO
ooooo

1.65
5%

1.28
10%

c0OO000O0DOODOOOOODODOOOOOOODO
goono

5.3 0OO0OOOO0OOO

Xoooooooobooooooooooooooboo
oopDoOyoOoODOOOOOOoooOODOOOOoOoOoo
Uobo0o00odob o=165000000000000
00000 1000=34.37831411(0 O )062.30537698(0
0)0zZ0U0O0O0OO0OOOOOOOO Zz=0OOOOOOO
01000000000000000 4ooooooo
gobobOoooobooooboboooooirgoooooon
obooooooOooboboboooooooooonog
obooooooooboOobOoboboooooooo
obooobooooboobooooobooooooon

6 0OO4Od

gobooobooobobooobboooboboooobo
O001000=13800#r=0.50d=6500000000
gobooobooboooboobooboooboo
gobooobooboobboobooboooboo
gobooboobooboobooobooboon
gobooboboooboobboobbooobooon
gboooooobooboboboooocooooong
boooboooobobooooobooooobood

goon

[l] 00000000 oooUOomoROUOOOOOOO
1981.

2 000000000 MUO00D0O0O00DoOoo
gboboooobobooboboobobo2o030

3] D0DOOmMOROOODOOOOOOmMOOOOOL96l.

000 =(0000oooooo0)+(ooooooooo) 4 00000000 O0DmMOROODOOOUOOOOOOO

—-(000O0O00)—(@Ooooog) (9)

gobooobooonDigs2.



